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Notes: 35.1 Modeling Periodic Phenomena

The Sky Wheel (Ferris Wheel) Problem

A Sky Wheel (Ferris Wheel) has a diameter of 88 feet. The highest point of the wheel is 100 feet above the ground. The wheel must
make one rotation every 60 seconds. The diagram below represents all this information and displays the direction that the wheel

rotates.
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1. Complete the table below for the height of the rider that starts in
position A.
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2. Plotthe gints From the table on the graph below. 3. What is the amplitude? How does this relate to the Sky Wheel?
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7. Sketch a graph below representing the height of a rider that starts at positi Then, write the equation for the
h/situation. .
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